1. Question: '(STH-(ATE" -9 FSTHTATF o fF7?

A) ST
B) WSt

C) SIS
D) fAe1s srersy

Answer: A) STFHET

Explanation: (57%-(38[& IR 97 91X frer@s orers | - aas 5y IR 8 ©1F I%- - SAST
afné—q'csf% ST - BTG STFT = APATH - SOAGS = (RO - FRTF IS = AT (7T - A@H

3] = 5RF1F RN

2. Question: (F19 b JEF Rf?
A) W &

B) TG

C)a®

D)s %

Answer: B) T b

Explanation: $R{ad FTal SR [TeT0d: TR SHRCEE FNF 9@ HTaE IF F
FAEMT 23T fSfee THARIA G231 ST BT FT IF: (1F 3 AEH |

3. Question: (F1F T 'BIF GIF ST ST FAWI6 O I T (TF?
A)mm@_@@gwﬁ?w,mmﬂm

B) b1 b1F 8T 8T I 3 #1e, [ T vIe13

C) 51 bIF 8 8T I (= e, [ & e

D) TIF 017 ST 8T F(& [ T, AT M6 I

Answer: B) BIF 0IF 8% 8% I fF 18, fTsid M wiers

Explanation: 51F b1F 8G 8 (ST TN (G81): BIF bIF ST IT I F 1S, ITNE6T YT I

4. Question: IENCT CEIMNEIT "FIFIET G TANIIT I 46 bfFwas A1l

A) TEGAR 3 FFaTA
B) ST 3 F[[uall



C) STET 8 e
D) (sSnfI=ene 3 (IRt

Answer: B) F§5ue 8 Fforall
Explanation: AR, 357 32 (MR (A9 (77 F112AT Ifefo @@ FHFTEF O3 STATH |

5. Question: "I & & 93 (72" -9F FYF F 7F?

A) s

B) wrged
C) arge =
D) o

Answer: A) 317&

Explanation: 31 7 e 93 (72 - QoI 1 7 (71 17 o 957 - (8 A1 AT 60T - &7 [
SIS FHT A - FHS I Fe] 77 [ - e[ T I (F1 9 - AR 7 Y& CNAT I o - SeposyE 37
FAET 78 3 o - A9

6. Question: (FIF INF THI AT FITS TA@?

A) 55 IJACTFT T TS

B) (o1& ¥ g 2@ o

C) B2 G} HB] IS

D) (FTATTTT F4, T@AT (el FAR

Answer: A) 8 SCTHT AT IO

Explanation: &3 SI31F : (I AT 79 AFIEF TF I IAFRCIE N AT A& T=57F 307 I,
OIF TSI T IET| 93 T AW, IS 31 RGO (F (FTAM6R 200 |
7. Question: (F1 S FITAR STPEF SH-TSINIP! Mfere 27?2

A) 55as

B) oS

C) 533

D) 5%

Answer: B) 5»b)



Explanation: 313, I (S ub-528%) FiF, THtews, FAMMRISTF, A651E, fTafidt, a&fas,
arfferss, FrRIfam 8 TE-REFF | (TR Sb S I T, TR SpbS W Sof-To NI Mfere zafee |

8. Question: 3NATEF 363 8 PfOT (FH FNETF SAHTT?

A) fSET--FTE T 2T

B) JRN--SNeT 2
C) M= aT--aaT FIfug
D) 1@ NSEF NA--STPY A2

Answer: B) Je--STT 2fF

Explanation: fSfey fi@el s[ifey Sadms@eRiat $11 ©i I (N F3ero] JHfes iegfod
(TAIFIGH 3 STSIT (FOAR AT | I, IHAF A 3 ARI-2AEH 2o ofF FHOF
TRl FE SU®|

9. Question: "JAFT JJR' ToAT FEA-

A) ST ZTTRTA

B) (TT&CHT 23
C) T A (BT
D) 5TIW 3R (2T TSt

Answer: A) ST ENARIRTA!

Explanation: 212 (R0 AT AF0& (773, I AR FIF (FoT| - fofel HASIE (ST Sosizet
FEF (2 FECR ST ©fF AR o7 HAET SN To F@E) | - fofd @@ F@ 932 weor Ahifee
Igol 3@ I3 R FaE |

10. Question: (FF IF TNH] (FI TFIT© TJ@?

A) BICTEIG BT6 (AT 39

B) nfel ©T® (4 J I1F

C) 9nf 99 ©Te A1’

D) of¥ ©1e Aftr

Answer: D) 9 &1@ 21f%%

Explanation: [93, "SI ©Te NfR 432 'S1f 79F ©Te AR 126 @R TN {F3 3970 2a@®|
AT AFIEF Wf3F Tod A TAF Tod O (WA TF® || SRAFICE 0% o7, A1 Fea
Trfsfon fofate a3k s @A fFA A1l S1eT ©Ist F7 T



11. Question: JFAH~ 77T Abw FIFTTE-

A) THBTE 9P

B) o1 (FAf® (T ST
C) 933 T 3573

D) &57a et

Answer: A) JFPIE 997

Explanation: S14fa% ST M&T ST 719 ANen | FHSF FIGAN S1FF ©id FIoE JERA
BaF T | - JHR I OIF IERA Ao FF - O T Sad WETF S (HHIN INE |

12. Question: "I I Jud, FTORT TS 1 Sfeba 750 o1 7Y 3(=-

A) SITGATT SF ST Se=17 AT FE
B) I@F TS I ATF(92 SIENRICT

C) a3feq F1-oN~¥ anfer 8 SIFfas
D) Sizeag Te1{F I3 SJwd

Answer: C) 3310 F-CT¥ v 3 Srpiast

Explanation: 'I@&T I 7, Froa] T@s” - 5SF1F 4 FAM TET6w SEIMETR Fafeee
'STEGI TS FHAPIRANS | A7 (TS JEN (N W 33 e 27 a7 |

13. Question: (F INF A TFEF IR F TAR?
A) (STAT AT

B) SIrsifel SIs&e

C) I Jfer

D) 841 {3 3@&?

Answer: B) S SIs&@S

Explanation: &Y fed S31E| (Fe— Sa¥ T T Y a1 73 = Tas 37 : [FI1 F97
fE@ FIMS (I LT I FE, OIF So¥ TFF I | (Fele— A, ST 2@ |

14. Question: FHTIETT FHYRI- 97 GBI



B) II&IF (@] FNT --—--AFITT
C) 5T FIRT T -——-FerT T
D) ufS{aTTai 5[ -----R1fp

Answer: B) SISl (o1 F18T ----- NSRBI

Explanation: (I S1CT T S ST ST, O ST ST 0T | (T3 — (STET1T IS HeT =
(ST, T FI6T B2 FdT = F6-Frd71 =55 FHEET T T 7 (T (IS AT |

15. Question: (F6 PRORIMTF AGF?

A) ST

SBINERS

C) TE I@

D) F&T& AR

Answer: C) “’Iﬁl’%ﬁ{’%

Explanation: M¥=d ©O1 (& TooRFT JAF (GHIF (T (NS A63 TSTe T[I-I7 (S2¢)
3T (GO R JHSETE 932 TEAWIRF (SvTemd SR TaTEIF (9|

16. Question: NR@ A GG (TTEN FIT TP TGR-

A) TRIFTES

B) A6

C) TaFI=s

D) ST&®

Answer: C) Ta1&J (In his poetry)

Explanation: ST 581t (¥F2 MR@ T 18 (TF Moo 8 NPSHAF TgIoF 43 138
AFFSNF (T 3 JH© =, ITF SHSFH TFT NG® ©fF ‘FHSMAT, ‘SN A7 264 HE |

17. Question: '(THEN BF6" AT WRes AAFEF TN RET=-

A) T RIS @

Answer: B) 331 (IR (FIRTalT 2o



Explanation: 3 (RFAW (NS @ VAT FAFTO] (AF S99 IFNEF & (SH0) ATH
AF ' 19 IaF TF e 23|

18. Question: IR IR SIS AN 9F2 T=H FF Gfo IAAL TFH?
A) TIfS/zreT

B) mifey/mat

C) Sfe/smst

D) af/anat

Answer: A) TIf/zr6t

Explanation: I 3G I SAMSHTT SHIE, - A, JEL, TG - TASE 85 |

19. Question: NfIF IEAPNIT 'TAAAF N ANE SAATIT TS
A) MA-ET ST ST

B) 5RABIE G -Siae

C) o1 9-Sia@s =5 foa

D) SE-SIa@a fafba -3

Answer: A) MRA-STETT RATTAT ST

Explanation: STAAE N T3 ARG $208 S (N SFAT AEFT NFARFeE IF1 e 1
A | - T SIFF6! - Gy a7 31 FIRfV|

20. Question: "*TAT SIfEE IR T% S Fa; ol (@, apfaey faers FfE)* a G i Sfe=mm-

Answer: B) 9119

Explanation: "3 fAfEg 36 O% 35 F7 o (@3 93 (Hi61 forersy ¥ - 2 Ia o1 26 4
T A3 (3% (711 SR T SAFIAE ST TP FE N1 | TR ©TH] AT SAPT FA© AT
A0 Jfed F® OFF SIFIES FNT T619 FE (IO



21. Question: Select the answer of the word 'stagflation’.

A) controlled prices

B) Cultural dullness

C) a disintegrating government
D) economic slow down

Answer: D) economic slow down

Explanation: Stagflation is a condition of slow economic growth and relatively high
unemployment, or economic stagnation, accompanied by rising prices, or inflation. It can also
be defined as inflation and a decline in gross domestic product (GDP).

22. Question: What is the meaning of the word 'scuttle’?

A) to tease

B) gossip

C) pile up

D) abandon

Answer: D) abandon

Explanation: Scuttle - @@ =TI, w® AfFe51sT FATI Abandon - TSI F4T, (/05 (78371 Tease -
5181 74T, [I8& F4T; pile up - STGT FAT Gossip - TAGET FAT; (A5 FAT; §oiF 641 F4TI

23. Question: What is the meaning of the word 'stanch’?
A) to reinforce

B) be weak

C) smooth out

D) put an end to

Answer: D) put an end to

Explanation: Staunch/stanch - 312 35 ¥4, 98 T61 95 471 Put an end to - (¥ $471 Reinforce
- TSR ST T AW I DA ST FAT Weak - 73; S5

24. Question: What is the meaning of the word 'belated'?

A) complaining
B) off hand



C) weak
D) tardy

Answer: D) tardy

Explanation: belated - {3 (Mfa(® S tardy - (WfHT® 9M5T® AT (WiHT® ST

25. Question: What is the meaning of the word 'sequences'?

A) question closely
B) round up
C) withdraw
D) to follow

Answer: D) to follow
Explanation: sequence - SR{TF, &3 S| to follow - S+ FAT, T3 Swa< F11 Round

up - Fof SRAT A IS, STOT AT (THOIEF N aFa1Fae| Withdraw - STE I8, WHF (3T, @
(@SIT T SO @S

26. Question: What is the meaning of the word ‘euphemism’?

A) vague idea
B) wise saying
C) verbal play
D) in offensive expression

Answer: D) in offensive expression

Explanation: Euphemism English meaning: - A figure in which a harts or indelicate word or
expression is softened; - a way of describing an offensive thing by an inoffensive expression; - a
mild name for something disagreeable.

27. Question: 'The rainbow' is-

A) a poem by Wordsworth

B) a short story by Somerset Maugham

C) a verse by Coleridge

D) a novel by D. H. Lawrence

Answer: A) a poem by Wordsworth



Explanation: D. H. Lawrence Fft® $@&{6 S35 - The Rainbow - The White Peacock - Son
and Lovers - Women in Love - Lady Chatterley's Lover 3&51f% - The White Horse ®19 3ft® aF(G
SO

28. Question: 'Tom Jones' by Henry Fielding was first published in-

A) the 1st half of 19th century
B) the 2nd half of 18th century
C) the 2nd half of 19th century
D) the 1st half of 18th century

Answer: D) the 1st half of 18th century

Explanation: Tom Jones, in full The History of Tom Jones, a Foundling, comic novel by Henry
Fielding, published in 1749 (the 1st half of the 18th century)

29. Question: The literary work 'Kubla Khan' is-

A) a history by Vincent Smith

B) a short story by Somerset Maugham
C) a drama by Oscar Wilde

D) a verse by Coleridge

Answer: D) a verse by Coleridge

Explanation: Kubla Khan: - Kubla Khan is a poem written by Samuel Taylor Coleridge,
completed in 1797 and published in 1816. - It is sometimes given the subtitles "A Vision in a
Dream" and "A Fragment." - According to Coleridge's preface to Kubla Khan, the poem was
composed one night after he experienced an opium-influenced dream

30. Question: T. S Eliot was born in-
A) Ireland

B) England

C) Wales

D) USA

Answer: B) England

Explanation: T.S. Eliot, in full Thomas Stearns Eliot, (born September 26, 1888, St. Louis,



Missouri, U.S.—died January 4, 1965, London, England)

31. Question: What was the real name of the great American short writer, 'O Henry'?

A) Samuel L. Clemen

B) William Huntington Wright
C) Fitz-dJames O'Brien

D) William Sydney Porter

Answer: D) William Sydney Porter

Explanation: O Henry: (1862-1910) pseudonym of William Sydney Porter. American short-story
writer whose tales romanticized the commonplace—in particular the life of ordinary people in
New York City. O. Henry was a professional writer, he worked as a clerk in a drugstore.

32. Question: Anything 'Pernicious’ tends to injure or destroy. Something which has no
such harmful effect is-

A) salutary

B) innocent
C) immaculate
D) innocuous

Answer: D) innocuous

Explanation: pernicious /adj/ II&1aT, Af8FF| innocuous /adjective/ Hfe FE@ a1 AF; JATTFI;
fAmT | Pernicious (Adjective): Meaning: Causing harm or damage Bengali Meaning: Hfe3g

33. Question: Do not worry, English grammar is not to understand. Which of the
following best fits in the blank space.

A) so difficult

B) very difficult

C) difficult enough
D) too difficult

Answer: A) so difficult
Explanation: Too.....to 9% S TFIZNF 27 '982 (T ...... a7 A I9F FAF Sels | (N2 - The children

were too flabbergasted to speak. - He is too weak to walk. - English language is not too difficult
to understand. - The weather is too cold for them to go out. - Don't worry. English Grammar is



not too difficult to understand.

34. Question: We (not have) a holiday since the beginning of the year.- Which of the
following verb forms best completes the above sentence?

A) did not have
B) had not had
C) are not having
D) have not had

Answer: D) have not had

Explanation: Sub + have/has + past participle form + ..... + for/since + time S[OdNR, NdF AT
2(Fs We have not had a holiday since the beginning of the year?

35. Question: If | were you, | (handle) the situation more carefully. -Which of the following
verb forms best completes the above sentence?

A) would have handled
B) will handle

C) handle

D) would handle

Answer: D) would handle
Explanation: If clause 4 If@ past tense 2, BT ITARTT SIHTFT© would + verb - a7 base form

27| B could/might 8 2@ & | 43T if IF IRTT be verb ATFE T TITIT were TF | THFAT (T,
22 verb 6 past Tense 8 IFHT SAATE TEFA] T IONE IATSIAT o TFTT FF |

36. Question: It’s time (you realize) your mistakes. Which of the following clause best fits
in the above sentence?

A) you have realized
B) that you realize
C) you would realize
D) you realized

Answer: B) that you realize

Explanation: - It is time 9FF pronoun 47 subjective form SIS (2 subjective 97T verb a7
past form 5939 |



37. Question: We have recently entered an agreement with the Island co-operative
society.

A) no preposition
B) upon

C)in

D) into

Answer: D) into

Explanation: Enter into something (phrasal verb) Meaning: enter into an agreement/contract
etc to make an official agreement to do something

38. Question: The boy from the village said, "l ___ starve than beg."- Which of the
following best completes the above sentence?

A) better
B) rather
C) would better
D) would rather

Answer: D) would rather

Explanation: Would rather: We use would rather or ’d rather to talk about preferring one thing
to another. Would rather has two different constructions

39. Question: It is too difficult to 'tolerate’ bad temper for long.- Which of the following
phrases best replaces 'tolerate’ in the above sentence?

A) cope up with
B) pull on with
C) stand up for
D) put up with

Answer: D) put up with
Explanation: « Put up with - to tolerate, suffer through, or allow, especially something annoying.

Example : | put up with a lot of nonsense, but this is too much. | absolutely refuse to put up with
that sort of conduct. * Tolerate/put up with: SI%7 47|



40. Question: | have never seen such a slow coach like you, this small work has taken
you three full months.-What does the idiom 'a slow coach' mean?

A) an irresponsible person
B) a careless person
C) an unthoughtful person
D) a very lazy person

Answer: D) a very lazy person

Explanation: A slow coach - SIe5 8 ¥3g 1@ | a very lazy person - o1 (e T3 |

41. Question: 035 NTEF Economist Intelligence Unit-a7 SIS ST9¥@1F T5¥1F (Living
cost) YIGEF (Jf¥-

A) ISt

B) 3™

C) Pz it
D) (&% A<

Answer: C) firia 6 (Singapore City)
Explanation: JEATENT TTANSTGF @A 2COTHS 2810 (F9MN3RG) Ao A0 T5IT2 REF

BIFTRT (203 ST FFPT FE | S SIPIE: - T T3 127 : (B WIT (F127T) - F617 -
fSEreE 6 8 iR - YA F9 T332+ 7127 Wers ()1 T3w: EIU S@ITRE|

42. Question: T3S oy fIHT fNF STPE S0 T FIJRS Aol
A) SiRfIas

B) (& N6

C) FIT SI6/CTeT

D) 2« (Ecxon) =96 F1fee F41 2@®

Answer: A) JRfIas

Explanation: 736 16« $a7 2@®

43. Question: I fSfere Siaa o7 (Life expectancy) SIGE @fA-

A) GITATRT



B) Sod AP
C) &y affmy
D) S

Answer: D) &« (Japan)

Explanation: Yoo WI(7F fAAITRET 5 PN, I FIEE @ 576 AT (07 - 5. B[F - 18.59
IRF 2. G - ©8.L ¢ TRF 9. (NPT - ©8.99q IR 8. ﬁ?i’:ﬁlﬁ TG - BO.v8 IRT €. ﬁ'ﬁ'ﬂfﬁ'- 9.9
%7

44. Question: Ssfe AR Y6 TIEF @ (F1 (T2

A) BITIQ

B) =3

C) IR«

D) ST &ls15]

Answer: C) IR

Explanation: Swafs TAEE (@ fAq5e 486 (T (TISENE: 5. STERE F973 - 0.5 USD 3. SHATY -
0.bo USD . BI¥a &3 - 0.a3 USD 8. FF SRS - 0.¢o USD «. (B - 0.89 USD

45. Question: 2019 NETF T AFT FA (7 (@ IATS JFANE ITIFTHEH R TIEF
@fr?

A) ffermis
B) N
C) 8t

D) 8%

Answer: C) §1 (China)

Explanation: 2019 STETE S JFANE ITINSTIE T30 NIGEA @R PR ©1Fe (3@ A51e
SO | fRCIF AT FIEE @ @ St T JSAE TN FE|

46. Question: SIGEE @ 51 IAMAFEF (7

A) B

B) ARG
C) MfFI
D) &1F®



Answer: B) R3S

Explanation: xoxo ST 0T IGEE 1 FFMABIEP (7 5. ©1Fw - v &Afei3s USD (e &1t
FAAT ©3%) X. YRS - ©.9 T USD . THFIA - 3.5 {7 USD 8. Joa1g - b.» e USD
¢. fS@EaR - 5. % fAffmaT USD . B - 0.5% ¢ fAferms USD

47. Question: "afT 8TTE’ F¢3 T=ufe TIRMMb® (F1 AN &y Sia 3% J&18 Special
301 1T SIS f{EHN FE?

A) SIS F® NFNF JHET 2qfe [T
B) (ST FEAIH A &3 Mwe Gy 31

C) FINF F1= 2 fafw

D) I S>> ST FSAEE (FIAE T=qfow s

Answer: C) MfFINAT FI® 12 fAfF

Explanation: 3fG S 3T W@ NPafed 7 fief| ©1F 97 FOI SRAETSTS] (72| ©J3 T30 J
Y|

48. Question: AFIE INASF SHIEH TEH T (SNESTH N (FIHGE ATHT (ESCAP)
SAEE @R SR AEoaT FE?

A) ECO
B) CREC
C) EAEG
D) APEC

Answer: A) ECO - Economic Cooperation Organization

Explanation: TG 33 SEA WPEfed I7 fiel| O 99 TON SRIETTS] (72| B3 ToH6! J
T | S AN TIIS! TCEHTEA APTGE (S 3z Chile will host the 2019 Summit of the
Asia-Pacific Economic Cooperation (APEC) on 11-17 November in Santiago de Chile. Source:
APEC website

49. Question: '(SATET AT A IS IS (TS (GATT) aFN[a I3 TS 53] ROTE
TONE 7 AT F© T THIT T FEF AF?

A) T 9¢ o1
B) X vo Mok
C) =T v ToRM



D) T do TeRT
Answer: B) ¥ o *TORX

Explanation: GATT was replaced by the World Trade Organization (WTO) in 1995, 125 nations
were signatories to its agreements, which had become a code of conduct governing 90 percent
of world trade. Source: Britannica Encyclopedia

50. Question: FRTTNE Spdo SETF (F A IAef[o NHEF 6@ FFenT ol 238 @« M
NS R TR (VF FHHo| A6 FI0 TNEF?

A) S aeT
B) a99af%
C) fRasfifs
D) a7991%

Answer: B) a7949f% (A(S)

Explanation: The National League for Democracy (NLD), which Suu Kyi had cofounded in
1988, won more than 80 percent of the parliamentary seats that were contested in 1990, but the
results of that election were ignored by the military government (in 2010 the military government
formally annulled the results of the 1990 election).

51. Question: S»do WETH (T SIHE 7 3 AT A AT 956 A1 T FE?

A) X IRE[F (FF1E)
B) X IR (NAFO)
C) S IE®RA (T
D) @ A 1[RT (AAFN9)

Answer: B) X J® 1T (AF09)

Explanation: f5SI¥ freymaa @ Sl e ©157 F&@ =Few sifate St e a3 &
SIS TSI aF T AT 2T1 - S8 (A Sd Y T & S (A 3.¢ fiferma ey
ARG SIS N T T T TGF TRATF (T 3 T Seies 2|

52. Question: "3TATET (UNIDO)-AF F1a S (F1NT IqfFe?
A) (G113

B) smifas
C) fre3ms



D) fewa
Answer: D) fe@aT (Vienna)

Explanation: S1fes:e gz« 51271 261 UNIDO (United Nations Industrial Development
Organization)| - af6 $> 44 ST Af6FE T - 97 THAWIT APTIT IO FEFAT FTIFG | - TSN
STy ST S0fG1 - ISN FEARETTF Sia o 23

53. Question: fHIT3-97 TN FIS F$F ANTHNOF TS TCHTH NS FIF T S>b
ST SSSE (FINT (ST T2 FE?

A) o
B) *Ifas
C) @Sl
D) fA533%

Answer: A) f&@4T (Vienna)

Explanation: $»>%% M@ SOE Tuawd@ (NO2I@) Fam8-a8 TP FIOBE 398 A@SfeP
S NEHTN NS TFF T (FIETT T2 FE | (SSFIAN TPHf6F 72 IT TSI N 1N GBI
3)

54. Question: 'International Institute on Ageing' (FIN¥ e T@®?

A) (OS]
B) (@™

C) smifas
D) SIEI8I

Answer: B) (975 (Rome)

Explanation: SYETSI/SIEET (Veletta) T NEGIF TN SIEIET, MF61 (& 15th April, 1988 ST
'International Institute on Ageing' a9 IfSIT 2@ 51as International Institute on Ageing a5
SIITRG|

55. Question: FAF (V@ AT THAF JFREFF (TA0a BF 3J?

A) 526> ST (T
B) $»49 N (W&
C) S>b % N (W&
D) S2bY ST (IF



Answer: A) S NI (A&

Explanation: The Philippines capital of Manila was chosen to host the new institution, which
opened on 19 December 1966, with 31 members that came together to serve a predominantly
agricultural region. Takeshi Watanabe was ADB's first President.

56. Question: (FTF (7T FYF 307F (OPEC) T AT ST S FEA?

A) IS
B) JARGHAT

C) Nifa a=g
D) (Sfergy@en

Answer: C) (Tifw 91@9

Explanation: The Organization of the Petroleum Exporting Countries (OPEC) is a permanent,
intergovernmental Organization, created at the Baghdad Conference on September 10-14,
1960, by Iran, Iraq, Kuwait, Saudi Arabia and Venezuela. Source: OPEC website

57. Question: 3o 8 PSP T+ MFHT TFF TV ANFTH (FINT IO© 2J?

A) SIS TSRS

B) SICE(EIE FAEATI

C) FFRTE SAPTAET

D) FICIF (eI T35 ST F1 @™

Answer: The correct answer is: B) SICE @ 1d F5AE1T (in Canberra, Australia)
Explanation: 35 e F91 7@™®

58. Question: Jfe:ET FIFIF TaTeT FRFN T [Ffex o2 8 w37 &y sow@s 7wy
AR ST T 572

A) UNFP

B) DTCD

C) UNFPA

D) UNDP

Answer: C) UNFPA (United Nations Population Fund)



Explanation: UNDP works to eradicate poverty and reduce inequalities through the sustainable
development of nations, in more than 170 countries and territories. Source: UNDP website

59. Question: SFHeF BIFAGH (G Ao (& FREET a1 FE?

A) (T SIS
B) f51G STy
C) M3+ 55
D) (Vo1 (SISt

Answer: D) (dTe19 (SF1O6

Explanation: 03 STER S3FGH RAIGICS - - T A3 [FO! - (AT (SRS (FAT) - A1
A3 T - ST A (ACHFAT) 2033 T TIFTCH BeAG16 TfHe T - I, 29 - R, Sol
TR W: CRATO SHITRG|

60. Question: (FT (TG "SI (HoQS FI?

A) g

B) METAT
C) ARG

D) wfsger (=T

Answer: D) WfSpe (F1f37
Explanation: « wf%a-9& AR a3f6 srafes (36 ASEAN (Association of Southeast Asian

Nations)| « af6 afSf5e 77 v ASTH, S>LI M| + AT THAMIT AAFG AN SFTST|
FAFTATET TSNS 50575 (7T SofB |

61. Question: MBI JSIHT F5F (FIF 3N A 507

A) TS
B) famarsfa
C) "Mmre7d
D) SRS

Answer: A) SIS
Explanation: SRFIIFSTG IRATGCTT A6 Sefvos NSl Asrat | five 93 57t ORI a1

ST TS AAfACe et MBI AT TSI TS HZIATG IST IS FAGRT AN SIE
A% foef| S5z IR




62. Question: >} NEF S (FFINF OIfFW S FANT NFIET INENR! (F fSerer?

A) T AN
B) frasre et A
C) (=W St

D) «/Tei Ifewpate
Answer: B) ffra@e &t e

Explanation: TS AIfSRISHI S¢S ST 38 ST TFIAF TN 5Jef AT 5= FEA| 53R
T TYE MFIEF 9N AFORT FAF TG FFCT ST Oy fofey sramenfee 8 fafe 21 svae
ST 39 3T (AT (e 2o TS ARG wIa@ Mgye FEA | Source: Banglapedia

63. Question: I SHMIF 74T 8 TSTTY T F@ JAS 2J?

A) S>E8 ST
B) v»8% NI
C) $»89 I
D) S»&o N

Answer: B) 8% HIT (B)

Explanation: 5595 ST HIf3T FIST-(F (CATHIT FF O 15T SR @1 (R8T 7| T
SAFTA THe TG NAFTH FOP LA P 98 FHF S»80 WET ©1F Sf@ual (17 I |

64. Question: I (ST AT IRAICTT FRATWCTT (FTA (ST 56?2
A) Ffear

B) I3TT

C) ferer
D) SRR

Answer: A) 3337
Explanation: &1 3287 N6 (12E) 3 SBATCIF AT 1B Selow ‘R 97 SoGS e |

65. Question: JMIITH FEF TI-9%] (F1F S (7T FAT TARA?

A) S>ba ST



B) S>bb ST
C) 5249 T
D) 52 ST

Answer: A) 5> L@ HIT

Explanation: s "NFINAT AEEAT (TOIRT SF- o7 06 SIS T STaeT
VOLY TTET b (FFINE TRIE 9T ST61T NEHAT NI FE |

66. Question: FR/TIRI fAIRWET FfPre 27 (@1 TE?

A) $>ax ST
B) v»&& ST
C) 5>8 S
D) $5¢9 NI

Answer: B) 5@ ST (B)

Explanation: 1erTR gy arernia sfozra safse | afe o SER, svee S F1ffe 231 a3
frAfmyTE@E S ORS BT R . 2eTe (RICT JEfH | 835: RU Website 938 IRf=fEan

67. Question: "SIANT SREF @ TGIH] IFTT (FHIN" - TAGT TP (2

A) ST Tfe%
B)@laﬁg’i 9RM
C) ATt

D) SIFTeT% 12w

Answer: C) TR3qadt

Explanation: - ‘SINTE SRRES F(& AT IFCT (BN, S F oo M -sNoq I S
T TS M| - STALF T6eT T MNSHTH 2T AT BT (S| - afbd T2 ST forerer
A Afe%| (SNTE: IR

68. Question: STOIN JroTNET 3°1& (F7?

A) TR T2
B) e@fed 7

C) T e

D) SR (RITH



Answer: A) IR T2

Explanation: - STSIT Jro®Y b1 (V@ w0t fF TaF-I60T Ao AIES | - % S N
fersfiter STaeTs AFTE Sely AFTH SO 1T AFSEIBOT AN FAT I - O 5 AN F2f (AF
37\ F5teeT (RIS 7116 16w 2F1 | Source: Banglapedia

69. Question: JFCTY THFAIMT AT Fo?
A) A6
B) 9IG
C)=¥

D) &

Answer: A) A6

Explanation: IRTNCTR & 0T ITUEF S5 4 SN NE@TS TS 01 "FIES' owied FAT
23|

70. Question: =3[ J(HSIT T FE AT F1 27?2

A) s SRR
B) bv g
C) sx fSwwa
D) v8 f&oa

Answer: A) S fSoTEd

Explanation: 18w @& Yhed ST IRACICT 38 FETIHT CTFTRR 12w F(@dIa1 (s Mfere
2| 3 TR IO TP AT AR oGsrer Fa7 781 F 4|

71. Question: FFCTS I TN 9t F fef?

A) FIBF

B) TSI
C) (THGNIG
D) fsrnt

Answer: A) FN0C6F

Explanation: 21 Jf&q@a 121w SECS stol- FATO 727 F126 (71 Mo ST F=oN, Jraerd 72w o3t



TR ST NS T (RPAT CT, FFCTS X1/7 (NRPAT 2T SN, TS 417w TS AT {3
8% |

72. Question: IRAMCTT AFT F6IF T [FIHT 208% NEF F0 ONE 9l 36 27?

A) X RooEg
B) xq fGo1wa
C) 3> fora
D) wo &1

Answer: B) 39 {653

Explanation: - A5 ST 5% AT AT TSI ST T AL TEETT Ty ST AT
{6, AT 205y ATETF wo SR IF® 271 - [AFTCE O3 AT (FORET IR ST st
Y S I |

73. Question: FHTI A4 RAFTIT (FT 7 (V& T F TAR?

A) IIRRA
B) SO
C) 1P
D) el

Answer: C) F1¥FG

Explanation: I3 a &u: T30 W R (0 (S [Eid M5 ST (@ T AR 77
afe foxe 8 AeTR fSes e #7212 SO (TR 14T A IRTACT ST FEE| 92 7w
AIHATE (ST (FIASNEHT P2 Tf3pel-57F @ 1% I (SAIIER wfSier (iEay fHifere 2@ |

74. Question: FRTCTH TIEE T, 7RG FOIF 71 (57?2

INERIER
B) STIET

C) (F3FTORR
D) ®Ifdis:

Answer: A) SIEFT

Explanation: - IRTECTE SETS RIS FOVTLe 5 2% ©ifersr | - aft o aers =fafbe| - 3@ty
S BIfeR I TG AF T2 oY MG | 9F@ IS MRS T BT



75. Question: IFTT I @F AT OIF AIF0?

A) ey
B) waTsT
C) GT=e

D) &5

Answer: B) @15

Explanation: - TS 14 G112 Ai3ef i [ srazane fGsmi il Sod Siw 956 29
FHEA Y| - SB U8 N ORFA 51T FHHNF .6 T 93 Iy [T 957 92 FE |
76. Question: IR fSfEr o1@ fofFs s afe Sz a7 672

A) T 363 S

B) 2 8¢ &Y

C) TT Sdod T

D) ¥ 5938 &

Answer: A) JTT 303 T

Explanation: - ST&1F 3 SePRATT AYTMO-05Y -- 5 1 YR8

77. Question: &4 I (FNT 350 ?

A) TR (ST

B) FSTIR 3 FSST (FelT™
C) AGIF 8 35T (TelTF
D) TET 8 AGEIH Gl

Answer: B) ISR 8 F3STT (SeTF

Explanation: 57« {3 (Chalan Beel) IRTCT FIGE TS [ 932 Tzos SeaeHsas G| -
f3TfG Sfxetel fSa{B (ST ArTIRY, NFT 3 FIATEsT3-a7 SRARCTH I AT FAR|

78. Question: HIATH I IRAWCTH NG (I F© & AI50?

A) 28.9 fFf3r
B) 3%.0 fFfa
C) v».e 3



D) vb.a fFfir

Answer: A) 38.9 &

Explanation: Fa3Te] I9ET %ol 5% T 972 SINF 3 S5 JalF Mg TR IO SRS SATE
1T SR FA0© AT N, (72 TEFS DS T HIHE] IS tof9 aTs (77 ©Fe FIF1F| - TR
BIMRAIIESET 518 SN TG (FF T1@ Sb/5G.¢ FERGE & IReaoR [P (e
HIH] TS I 557 Faig ST 93 Iy AIfFe |

79. Question: TR fREIRT (FIF (SN AI20?

A) 3G
B) S renat

SR ERIE
D) AeSfa=16

Answer: B) SiemTat
Explanation: - TENAI2I6@ [RbNRE B0 (&l I | - 4 G weo 6 REIzT I@®I - a (FeF

e bR ft (= 728N 8 ABECel| - (e fFu7 FEATET AT 93 72 REFRTE [T QASH N5
(NN 57 FHT@R| T3z IRAH G

80. Question: SR AT« I P I5f fFENRGE?

A) b>o00 F5f FENRIGIT
B) 8500 Tf fFERIGE
C) @¢voo Iof fFENHIGIT
D) Yo3q Iof fFEnfeE

Answer: A) b>o0 F5f fFENRGEF

Explanation: ST SFwd 1T b,05,900 (@B T Yo)a I5f fFENREEF I (0T AFe@F 8.59%
AT I AW fTfTe TToRT vb.53%|

81. Question: AFSF NHFT NYFFT (MR (NG F© {FAT G AMF?

A) Go b
B) wou
C) 8oy
D) 20y



Answer: D) 04

Explanation: 9% (J15% $e1F SIS F7| af6 (=T TIEE o F1| TG, (705, IFI, 51 (6
30 6 P ST Jof 7% AT FH1T 1o 27| Frog FHE AT =T SET @R A |

82. Question: (P (N1 T T STTHAT O NE?

A) (S

B) saw

C) I

D) @rfe

Answer: C) SI@MG

Explanation: (e STETE ST 9 A& | AT &F© Br2| B35 ¥ (T I8+ 32|

83. Question: @6 GIFF Ta?

A) T/Ew

B) oSy
C) smifBafer
D) (16

Answer: C) SBIfGf
Explanation: (51%% a1¥: (T & SN §FF AFHI I I NEAG §T@ A0S F1 TT o0

1T Y | @FFeTsT (B1FF T (TR AF O (GIFF TN (HET (G1FF v T
(HETSEGS vl F] 37|

84. Question: T% (O FO TSI A1F M Te=Ted TSR] AF; FIET TH 7o FER-

A) SIS F

B) 3131 @

C) I 517 &
D) I &1 I

Answer: C) I1%d 517 (&

Explanation: 5i¥@a §O1¥ I 5177 $ 28I1F FR TH(0F GO IANFRT FACE 7% [T F&TO S
M| TSN 77 7 (f9F FiFeo 33|



85. Question: (FIET A NETFIITAG THT > S FRGE (K AFT6 NFT (MA@ (TP oS
FGE I FAE?

A) 5 39 10|
B) » 897
C) © 3910
D) © 894 FAF

Answer: A) » 39 9101

Explanation: 93fC ST SIFGARIA IEFAE ST, ANNT 432 FAFrH Yo ¥ A foreer afe
% 9 AfET THTSNE TS M @ SNF FTT (MAF | (FNAF (9T oG 7= G (EAF
(T, T = 21 V(L/g). 93T, t= (MEATFT, L= FRHFH s (FOTT G5+ ST TP, g=
AfeFHE g7

86. Question: AL =F AT BT OIET (7§ fF3 FIE FANET Fob] AIIST o E?

A) IS8T 2T
B) faga @
C) foag 2@
D) S 2@

Answer: B) 8¢ 2F (TG o7 936 B1aT STEF (0§ 58T FAE FMAES Fo0T T
Explanation: TGN ST 956 BIaT O (s fASl FHCT T S 2T | Sz I35
sar{fesTe

87. Question: (F AW & 5o FIGE (@2

A) e
B) FreTeT
C) *nfete
D) (2@

Answer: B) o1y

Explanation: - %1 56 (@S (T YA Ao FE ©IF T 56 I Wio JET| - FSa M ((ToTa-
NG, (1Y) %7 FIEE F6 5, - SFT A ((FNF- M) $1F (6@ S 5, - IINT N0 &
SIS STAEE F3| ST, T4 FHH =GT AHIMRS 2@ MNE 71 R e N (F1 S92 (7, 5T
3 1 (TP 23T (ST THR AT 7




88. Question: WFFE (IfFE AT (FHG?

A) SIS
B) QTN
C) SR
D) &2

Answer: A) T8
Explanation: U.S. spacecraft successfully flew by Mars (Mariners 4, 6, and 7), orbited the

planet (Mariner 9 and Vikings 1 and 2), and placed lander modules on its surface (Vikings 1 and
2). Source: Britannica Encyclopedia

89. Question: AT (@HF NRZTF (F?

A) SRTHIRA
B) @@@aTst
C) G
D) SUTHRRINF

Answer: D) SUTHRRNF

Explanation: - IOV (TSRS NRET HIFG SIIAE] AN FEA | - ATHS (AET ML
FEF [GATIRD; - ST AIRIT FE@F MEANCR[F (FHT; AT4 - (S FHTe] AT FF AT
@ARE

90. Question: ENEIT TGEBIF (FF Y@ (T3 3920 27?

A) Sae
B) fferefS=srer

C) o
D) SIqee

Answer: B) Sfeaf&asrer

Explanation: T3 (T TIF: b. TG (T3 ATeA F15 RO IR FI1 21 X, B3F (A>T
SIS ST SR 956 e (F8hge FE ST TR FIS 920 7| 0. 5, FIIE,
3% 316, SIFer T, [HAST IF 2870e 1370 2|

91. Question: I x3+hx+10=0 957 9Ff6 TNYT 2 I, ©&F h 97 VF Fo?



O -
o

com>
© N

Answer: C) -2

Explanation: x = 2 3 2 T T35 1% @1 .. 23 +h x2+10=08 +2h + 10 =0 2h = -18
Soh=-9

92. Question: 3% Yo,000 BIFF AT 89T AFF AT 80% FNNG 432 I 9T 0 L% 8 8% IFNOF
AT TG GIFT?

A) T
B) 800

C) xaY
D) 188

Answer: C) ¢y

Explanation: 0,000 G139 80% = 8,000 BIFT| AT $0,000 HIFIFT ©WL% = @, bo0o BIFT I3,
(30,000 - 1©,b00) = LBoo BIFT LBoo BIFTH 8% = X4 BIFT| FAGH FFY = 8,000 - (VY00 + 3¢ Y)
BIF1| = 8,000 - OV Y BIFT = 188 TIFT|

93. Question: y=3x+2, y= -3x+2 43 y= -2 747 sIfd® swmffes fbaft fF?

A) 9516 IR fags

B) 3316 Sl fage

C) 9316 3T fags

D) 236 safaqie fags

Answer: A) 936 1912 fag® (An equilateral triangle)

Explanation: y=3x+2........ (i) y=-3x+2....... (i) R y=-2...... (iii) 92, (i) 8 (ii) T TSI &I
JYTPE 3 3 -3, IO TFAA FHF | Sfodl 9% (FAT {6 e | e (jii) 12 (@G (i) 3 (ii) 7 2@ fom
©1R TSRS 711 sidw fbaft a5 Tizame fAgs |

94. Question: w3 a7 1 f&feF TNfAwT F62

A) v



B) 8
C) v
D) ¢

Answer: B) 8

Explanation: @3 97 x f&fe® asnfawe = log232 = l0g225 = 5log22 =5 .1 =5

95. Question: 9FfB (ST 3JuT (BT FT RETN 97 JUIF SIFACT 952 3[4l Fofo A1 (Ao N (I
O MEE UGG 932 ST TCT A1 6 Ui = FE?

A) 8

B) o
C)v
D) v

Answer: B) bdo

Explanation: Sel$fed @ (@ A3 65 3 T 341 51T |

96. Question: (FIET TAFT a3 @@ n WAF ICIF T o0 G 77 7@ L¢fS Io17 8% Toa (7 a3
FfF TISENR 9F ORI 8F $od (e ME| 98TE (7 I 0% T 8% Sod M A ©F P
TRFIT TCIF RAT F6 1?2

A) 20fb
B) woft
C) 80fb
D) ¢oft

Answer: B) woff

Explanation: &3, SICIE 5237 = n (7 5% 20f6 (Y@ T @ S¢ 6 A 33 (A& T8 FE (n-20)
X (5/9) TN, S¢ + (N-30)% (5/9) =n A7 ¢0% ST + (n-30) X (5/9)=n/3 (8¢ +n-30)/e=nN
(R¢+n))@e=n/rwvn=¢o+3nwWn-3n=¢o.. n=¢o

97. Question: IFfG (NS ATGT T F m MRT 79 SfoF FF Af© MIT 2 HAE 972 ATGT wiger
fae T ot et 2fs fifa 3 MR ROTE | (THoa TG Se@st F61 P ARe?

A) 8¢
B) 18
C) ac



D) 8%
Answer: B) 38

Explanation: Ta@Ed W@ X G I = S TR .. Yo FAEG I = Yo/ = wo AR ARF wizge [
SR X R @ 90T S FAE S R Ro@ ST = 3/3 FfAG .. wo JReT @ T = wo/x = 8¢
BIEE | SToaR G ST = Lo+5¢ = 9¢ FAE 932 (MNB YT = vo + Wo = Yo MRT 93, (37 9¢ G
T = Yo TR .". Yo HAG I = Yoxyo/q¢ MR = 8 N3 |

98. Question: [-9(3-9)-5]-S AF [ F©7?
A) ¢

B) -¢

C) -5t

D) v/¢

Answer: B) -&¢ (Negative five)

Explanation: [R- ©(R -©) - 5] -5 =[3- 9 X (-3)-5]- S = [R-© X (-S)]- S = [R + 9] = Q- S = 4/¢

99. Question: 9T THIR TLYEH ASWE A6 JRGN JBF AIOF SooTr A P TLQEH ATo
F97?

A) xo00

B) 200V}
C) 007t
D) Y00\

Answer: B) 2001}

Explanation: T5g9 66 3w F512 AQ® e | TSEPIE, T2 = 100 => r = 10 234, (V3/4)a? =
Y2 x a x 10 => a = 203 [oTR, TCYEF Ao = 6 x (V3/4) x (20/V3)? = 200\3

100. Question: ) IETF 3 FIMTFTF AF(6 Tl fTFBCT (FT 2R A AP ¢ T AP N7 (YR,
fToIT T L I AP NG (FA®| STF CTF IEF NIF6 AP N (| I b AT 22457
32 g TP 2T TR FE , ©@ b 97 T F972

A) b=g

B) b=g5
C) b=g-5
D) b=g-4



Answer: B) b=g5

Explanation: IeI@E AT = b JIAFTT AT = g ST IS 5 & AP S (N | 3T IEF 6 Gl
S1IREaE R0 (G ! J—— AGAF, IFF 3 FMFTE TRAT TR I 4 AR, THFATIF b =
g-4



